

MULTIPLICATION TABLES with audio

Audio will work only in Adobe Readers X & XI

Chapter Seventy Six Multiplication Tables Number One



	1	X	11 =	11
	1	X	12 =	12
>	1	X	13 =	13
	1	X	14 =	14
	1	X	15 =	15
	1	X	16 =	16
	1	X	17 =	17
	1	X	18 =	18
	1	X	19 =	19
	1	X	20 =	20
	CLIC	K HERI	E T <u>o</u> Hear <u>a</u>	UDIO

Number Two

$$2 X 1 = 2$$

$$2 X 2 = 4$$

$$2 X 3 = 6$$

$$2 X 4 = 8$$

$$2 X 5 = 10$$

$$2 X 6 = 12$$

$$2 X 7 = 14$$

$$2 X 8 = 16$$

$$2 X 9 = 18$$

$$2 \times 10 = 20$$

CLICK HERE TO HEAR AUDIO



$$2 X 11 = 22$$

$$2 X 12 = 24$$

$$2 X 13 = 26$$

$$2 X 14 = 28$$

$$2 X 15 = 30$$

$$2 X 16 = 32$$

$$2 X 17 = 34$$

$$2 X 18 = 36$$

$$2 X 19 = 38$$

$$2 X 20 = 40$$

Number Three

$$3 X 1 = 3$$

$$3 X 2 = 6$$

$$3 X 3 = 9$$

$$3 X 4 = 12$$

$$3 \times 5 = 15$$

$$3 X 6 = 18$$

$$3 X 7 = 21$$

$$3 \times 8 = 24$$

$$3 \times 9 = 27$$

$$3 \times 10 = 30$$

CLICK HERE TO HEAR AUDIO



$$3 \times 11 = 33$$

$$3 \times 12 = 36$$

$$3 X 13 = 39$$

$$3 X 14 = 42$$

$$3 \times 15 = 45$$

$$3 \times 16 = 48$$

$$3 X 17 = 51$$

$$3 X 18 = 54$$

$$3 \times 19 = 57$$

$$3 \times 20 = 60$$

Number Four

$$4 X 3 = 12$$

$$4 X 4 = 16$$

$$4 X 5 = 20$$

$$4 X 6 = 24$$

$$4 X 7 = 28$$

$$4 X 8 = 32$$

$$4 X 9 = 36$$

$$4 \times 10 = 40$$

CLICK HERE TO HEAR AUDIO



$$4 X 11 = 44$$

$$4 X 12 = 48$$

$$4 X 13 = 52$$

$$4 X 14 = 56$$

$$4 X 15 = 60$$

$$4 X 16 = 64$$

$$4 X 17 = 68$$

$$4 X 18 = 72$$

$$4 \times 19 = 76$$

$$4 X 20 = 80$$

Number Five

CLICK HERE TO HEAR AUDIO

50

5 X 10



Number Six

$$6 X 1 = 0$$
 $6 X 2 = 12$

$$6 X 3 = 18$$

$$6 X 4 = 24$$

$$6 \times 5 = 30$$

$$6 X 6 = 36$$

$$6 X 7 = 42$$

$$6 X 8 = 48$$

$$6 X 9 = 54$$

$$6 \times 10 = 60$$

CLICK HERE TO HEAR AUDIO



$$6 X 11 = 66$$

$$6 X 12 = 72$$

$$6 X 13 = 78$$

$$6 X 14 = 84$$

$$6 X 15 = 90$$

$$6 X 16 = 96$$

$$6 X 17 = 102$$

$$6 X 18 = 108$$

$$6 \times 19 = 114$$

$$6 X 20 = 120$$

Number Seven



Number Eight

$$8 X 1 = 8$$

 $8 X 2 = 16$

$$8 X 3 = 24$$

$$8 X 4 = 32$$

$$8 X 5 = 40$$

$$8 X 6 = 48$$

$$8 X 7 = 56$$

$$8 X 8 = 64$$

$$8 X 9 = 72$$

$$8 \times 10 = 80$$





$$8 X 13 = 104$$

$$8 X 14 = 112$$

$$8 X 15 = 120$$

$$8 \times 16 = 128$$

$$8 \times 17 = 136$$

$$8 X 18 = 144$$

$$8 \times 19 = 152$$

$$8 X 20 = 160$$

Number Nine





CLICK HERE TO HEAR AUDIO

180

X 20 =

Number Ten



	10 X	11 =	110
	10 X	12 =	120
	10 X	13 =	130
	10 X	14 =	140
,	10 X	15 =	150
	10 X	16 =	160
	10 X	17 =	170
	10 X	18 =	180
	10 X	19 =	190
	10 X	20 =	200
	CLICK HE	RE TO HEAR	AUDIO

Number Eleven

CHCK HERE TO HEAR AUDIO



11 X	11 =	121
11 X	12 =	132
11 X	13 =	143
11 X	14 =	154
11 X	15 =	165
11 X	16 =	176
11 X	17 =	187
11 X	18 =	198
11 X	19 =	209
11 X	20 =	220

Number Twelve



	12)	K 1	1 =	132
	12)	(1	2 =	144
	12)	(1	3 =	156
	12)	K 1	4 =	168
	12)	K 1	5 =	180
3	12)	K 1	6 =	192
	12)	(1	7 =	204
	12)	K 1	8 =	216
	12)	K 1	9 =	228
	12)	(2	0 =	240
	CLIC	K HERE	TO HEAR .	AUDIO

Number Thirteen



Number Fourteen



14 X	11 =	154
14 X	12 =	168
14 X	13 =	182
14 X	14 =	196
14 X	15 =	210
14 X	16 =	224
14 X	17 =	238
14 X	18 =	252
14 X	19 =	266
14 X	20 =	280
CLICK HE	RE <u>TO HEAR A</u>	UDIO

CLICK HERE TO HEAR AUDIO

140

14 X 10

Number Fifteen



15 X	11 =	165
15 X	12 =	180
15 X	13 =	195
15 X	14 =	210
15 X	15 =	225
15 X	16 =	240
15 X	17 =	255
15 X	18 =	270
15 X	19 =	285
15 X	20 =	300
CHCK HFF	RE TO HEAR A	HDIO

CLICK HERE TO HEAR AUDIO

150

15 X 10

Number Sixteen



	16 X	11 =	176
	16 X	12 =	192
	16 X	13 =	208
	16 X	14 =	224
١	16 X	15 =	240
)	16 X	16 =	256
	16 X	17 =	272
	16 X	18 =	288
	16 X	19 =	304
	16 X	20 =	320
	CLICK HERE	TO HEAR AUI	OIO

CLICK HERE TO HEAR AUDIO

 $16 \times 10 = 160$

Number Seventeen



17 X	11 =	187
17 X	12 =	204
17 X	13 =	221
17 X	14 =	238
17 X	15 =	255
17 X	16 =	272
17 X	17 =	289
17 X	18 =	306
17 X	19 =	323
17 X	20 =	340
	ERE T <u>o hear <i>A</i></u>	

Number Eighteen

 $18 \times 10 =$

180



18 X	11 =	198
18 X	12 =	216
18 X	13 =	234
18 X	14 =	252
18 X	15 =	270
18 X	16 =	288
18 X	17 =	306
18 X	18 =	324
18 X	19 =	342
18 X	20 =	360

CLICK HERE TO HEAR AUDIO

CLICK HERE TO HEAR AUDIO

Number Nineteen

CLICK HERE TO HEAR ALIDIO

19 X 11 =209 19 X 12 = 228 19 X 13 =247 19 X 14 =266 19 X 15 =285 19 X 16 = 304 323 19 X 17 =19 X 18 = 342 $19 \times 19 =$ 361 380 19 X 20 =

Number Twenty

$$20 X 1 = 20$$

$$20 X 2 = 40$$

$$20 X 3 = 60$$

$$20 X 4 = 80$$

$$20 X 5 = 100$$

$$20 X 6 = 120$$

$$20 X 7 = 140$$

$$20 X 8 = 160$$

$$20 X 9 = 180$$

$$20 \times 10 = 200$$

CLICK HERE TO HEAR AUDIO



$$20 X 13 = 260$$

$$20 X 14 = 280$$

$$20 X 15 = 300$$

$$20 X 16 = 320$$

$$20 X 17 = 340$$

$$20 X 18 = 360$$

$$20 X 19 = 380$$

$$20 X 20 = 400$$

Number Squares



11 X	11 =	121
12 X	12 =	144
13 X	13 =	169
14 X	14 =	196
15 X	15 =	225
16 X	16 =	256
17 X	17 =	289
18 X	18 =	324
19 X	19 =	361
20 X	20 =	400
CLICK HE	RE TO HEAR A	AUDIO

CLICK HERE TO HEAR AUDIO

10 X 10

81

100

BOOKS by VED from VICTORIA INSTITUTIONS

Almost all of them move through his understandings on language codes.

The SHROUDED SATANISM in FEUDAL LANGUAGES!

Tribulations and intractability of improving others!!

First drafted in 2013 January

This is the last book written till date by VED from VICTORIA INSTITUTIONS. This speaks about the hidden features and shallow intentions that lie embedded in feudal languages of Asia, Africa and many European nations. This book goes forward to discuss the issues connected to improving other people. Improving others is seen as a very dangerous endeavour. For the others may actually improve, and then they would aim to topple their very benefactors

MARCH of the EVIL EMPIRES!

FNGLISH versus the FEUDAL LANGUAGES!!

First drafted in 1989 December

This is a book that sheds light on the inner secrets of the Asian/African worlds. The shrouded information about what is wrong with Asian, African and possibly many other similar geographical areas, where language, words and usages have diabolic codes and contents in them. This reality is not discernable to a native English speaker, unless he or she happens to come down in terms of stature among them, when living among them.

However, this book is not about this, but to the higher theme of there being codes in languages that do design human features, emotions, efficiency, social systems and much else. Beyond this, this book goes in the issue of what would happen to English and similar social systems, as they get impacted by such malignant communication systems, as they enter within bearing the wily protective shield of multiculturalism.

This book was written much before the English and allied nations started showing signs of despoilment in terms of financial stamina, intellectual bearing, collective wisdom and technological superiority. There are lessons that need to be learnt. This book possibly might help do that.

CODES of REALITY!

WHAT is LANGUAGE?

In this book, what has been dealt with is the inner codes of language and their links and relationship with the *codes of reality*. The contention is that reality is a creation of some superior software, and that language codes do have connection with it. The book is an expansion of this idea.

Many things like mantra, tantra, witchcraft, telepathy, clairvoyance, schizophrenia, mental conditions, audio and visual hallucinations, and many such things may need to be re-evaluated again from this premise. The author in this book has discussed such things as Brain Software, the machinery of homeopathy, astrology and such things also.

If what is contended here does have substance, there is every chance that the whole outlook modern science has with regard to reality and human existence may be altered.

This book is a sort of continuation of book *March of the evil empires; English versus the feudal languages!* However that book is about human social environment. This book goes beyond the parameters of reality!

My ONLINE WRITINGS Part I (2004)

The themes discussed some ten years back include effects of unfiltered immigration to English nations, effects of feudal languages on English social systems, the dangers inherent in opening up the frontiers of geographical borders, technical skills, technological secrets, inner arenas of social communication etc. to social groups whose embedded mental designs are not clearly understood, the dangerous of unbridled democracy, the relevance of British monarchy as geographical borders tumble down, the rampage of Princess Diana, whether Britain should join Europe and Euro and many such themes. And also about BNP, outgunned and outnumbered, yet......The essential difference from many similar writings is that the author is from the other side of the fence, so to say; and hence lends perspectives that are not easily known to a native English speaker.

HORRENDOUS INDIA!

A PARADE of facade in VERBAL CODESIL

This is a book that argues that the people of India can be made quality people with educating them good quality English. What actually denigrates the common man's standard is the suppressive feudalism in Indian languages.

This book contains three separate writings:

Part I

Refining India! Brutalising England

Part II

What is repulsive about Indians?

Part III

Asian languages and friendship; and other things

IDIOCY of the Indian Protection of Women from Domestic Violence Act I

This book examines many things connected to the marriage system in India, in the context of the codes in the Indian languages. The argument is that the Indian Protection of Women from Domestic Violence Act, is not on correct premises when it seeks to protect the females in a marriage relationship. For, the family links are quite complicated. The Act fails to understand and take into cognizance many realities of the Indian social and family scene. It is a case of the cure being worse than the disease.

COMPULSORY FORMAL EDUCATION!

A travesty!

This is a book that examines the various facets of modern education, along with the understanding of what was the original idea of disseminating education. The contention here is that the whole idea of modern education which consists of 15 to 20 years of classroom study is actually a useless endeavour. Better use can be made of precious human life and time.

Software codes of Reality, Life and Languages!

How I worked out the idea starting from zero

I started writing this topic on an experimental basis in UkResident.com around 2005. There were a lot of unconnected strings of thoughts in my mind, which did connect to an idea that there is some kind of inner code links that exist behind our physical reality. Moreover, I had been making solitary researches and observations on the codes in languages, right since my childhood. This also seemed to connect heavily with the physical world. If fact, in my book: March of the Evil Empires; English versus the Feudal Languages, I did hint at this connection in the last chapter.

Later my thought processes went on to connect even to an idea that human body and life processes were all connected to some codes. In later years, I was to observe the efficacy of homeopathy, which I discerned as the medical side of this understanding. For, I had more or less predicted in my mind that if the human body was controlled and designed by a software code, then there should be a medical system that can rectify human body errors through a software approach.

I am making my earlier writings into a book. This is that book. However, this book is not the final word on the subject. For, a few years back I was to write my first serious book on the subject of the codes of Reality: Codes of Reality! What is Language?

INDIAN MARRIED LIFE

First drafted around the year 2000

This book was actually written for an Indian publisher in Delhi for monetary reasons. However, it was not submitted. For it remained incomplete. However, this book does have many good ideas which can be useful to persons who are aiming to get married. It may help them understand the various issues that they would have to face. Yet, it must be admitted that this book does not contain the usual free and unfettered writing style of VED from VICTORIA INSTITUTIONS. For the book was initially written according to the limitations mentioned by the publisher who wanted the book.